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First 15 minutes are allotted

{or the candidates to read the
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All questions are compulsary.
Marks allotted to cach question

are mven 1 the margin.

In numerical questions, give all
the steps of calculauon.

Give relevant answers to the
questons.

Give chemical cquatians

wherever necessary.
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1.  Four allernatives arc given in cach pan

ol this quesiion. Select thhe carrcel

alternative and write it N Your answer-
book :

a)  Equaton for the hall-life penod in

first order reactuon is
1) ”H!=ﬂ-ﬁﬂlfk
11} 1”3:0-593!5:
i) th,z:kf[]-ﬁg'&
v) t,,=k[/0-602 1

b) The metal which cannot liberate H ,
frem hydrochloric acid is
1]  Zn
1) Cu
i) Mg

iv) Al |
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Scanne d with CamScanner



[

374(RN)
L‘] The :'..:I'..'Iﬂ-[]ill"fi I'T‘I'ill('l'_”]n POtential
values of the clements A, 13 and C©
are + 068 V, - 250 Vand - 050 v
respectively- The order of their
reducing powcer I3

] A>B> c

iij A>C>DB

iiijj C>B>A
iv) B>C>A 1
d) Phosphine 15 preparcd [rom

phosphorus by the action of which

of the following ?

ij HCI
ii) NaOH
iii) CO,
iv) Na,CO, 1
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2. a) Deline specilic and molar
conductivily of  an clectrolytic
salution. i
bl  What is Nux @ Write about any one
acidie Mux. ]
c)] Explain the importance of complex
cormmpounds In qualitative analysis
by giving an cxamplce. 1

d) How docs SO, act as a bleaching

accnt ? Explain, I

3. &) HEHEQ Ef ..'15;._53 e mﬁi ohud]

RUTErEE &) i 6 | I

F) @ FIGEs 99 & ? g el wieisE %

9 ferE ) 1
) G g 1 AR faE 9=y | 1
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s T T
al  Explaimn, why the collowelal particles

of A8, are negalively charped 1
13) What are protective collowds 2 Write
the names of 1wa proteciive callonds
1
c)  Draw a labelled cdhingram ol the Blast
lurnace, 1
d) Explain, why coke nnd flux are used

In smelling, l

4. ™) mﬁqﬁmaﬁﬁﬂﬁ:ﬂamwmﬁﬁ?
"I wE W sty & A0 Ters o

=I¥eh [Hemien | 2

) Fefeien et e s sme

K,Cr,0, + H,50, + FeSO, —» Fe,(S0,),
+Cr, (S0, )y + K,S0, + H,O

2
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ii) Whﬂﬂﬂ%ﬂh_gﬂhﬂnﬂ
e AT IR Aied Zi0

1 +1

e & 1LU.P.A.C. T fefan

o)
i) ]{4{Ni[CH}q|
i) [CO{en),Cl,ICl 1+ ]
4. a) What do you understand by order of

reaction ? Derive the expression of
lirst order

2

velocity constant of

reactiorn.

b) Balance the [lollowing chemical
reaction by ion-eclectron method :

K,Cr,0; + H,S0, + FeS0, — Fe,(S0,);

+ CrE{SGq )4 + 1{25{34 + H,0O
2
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c] 1) Differentiate botween eleo troly e
cell and galvamic corell
1) What s Kohlrausch law 2 Write
s one  apphcation  with an
example. 1 =1
dl Wrntle [UPAC., namea ol the

[ollowing -

) KL IN(CH), |

i) [L‘(][rn]JCiJ]C'I. 1«1

F) TaEEs  sutwen w1 an feews @
R & 7 Wan diiZ @ Uw ahgiFen o

50 #FHUT H UM H T Wieas

AT=dl T M T 9l 6| Ia= a0

(=i i TV SHilao | 2

E) Wi, 998 T4 Al 9 3 S 6 2

T & UF IR0 S | 2y Urad e
T T &, TR 2
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2KI+Cl, — 2Kl 4 |
2

i) HyS;05 T Wehy o5 HieRlemn

HEAT FT Fifer 1
+ ]
N Yo

L | "y

g) i) TRE FH
ST |

ii) xe%ﬁlﬁﬁﬁwwéﬁmﬁmﬁ
ol

-

TEy | 1
+ ]
Whar js the rate Constant of g

- : .
hemicaj caction ? In g Iirst order

reacty
on the concentration gf a

Subst :
Ance remains hall of its Initial
Cﬂncentrau::un in S50

sSCconds.
Calcu)a te jts

rate constant. 2
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bl  What is the differcnce belween sol,
cmulsion and gel ? Give an example

of each. Milk being an emulsion is
stable. Explain, 2
c] 1 Explain with reasen, which of

the Mlowing is an oxidising
agent and which ene s a

reducing agent in the reaction :

2Kl + IE:I2 — 2KCl+1,

i) Find out the Oxidation number

ol Sulphur in H,5,04 . 1+1

d] 1) Give the structure of oxyacids

of chlorine.

il] Wrnte a brnel nete on the

compounds of Xe, 1+

|“Turn over
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yizares Aty @ g I T A fte =
ofeg ooF @il TE T uig o wee
Fray T & 7 @Erun ATaREa & wdEo
2+ 1

6.

el
SrerdT

>y Tty grT FEIAET = (A0 e o s
L 5 gmiEeg @9 WiEd 9UiF Hieg | SR

Cl__.:_, = T L il E‘HTEG I 2+ 1

Describe with diagram the method [or

manufacture of nitric acid by Ostwald’'s

How does it rract with un

process.

metal ? Write the equations of reactions

involved. 2+ 1
OR

Describe with the labelled diagram the

Haber's

manufacture of ammonia by

process. Write ils reacton with chlornne

also. 2+ 1

LR I ey =
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7. W) HEOU W w gqirarm E0ET L swmm
E) wEETEE Hes g UF oeiE  Eoy
e 2+
e
T4 BT &, W (TOEHEs @Ot )
i) FARE TE W Welray SEEE e
T HHled Ty ST & 2
i) WER® T@NEe % faegs o ety
eEgEes faeaT Toem = & 2
iii) ATH SEFIEE 19 G0En SRR
F Iy e § vetled = e § 2
1 +1+1
7. a) Write the deflinition of transition
elements. Describe the special
characteristics ol ransition
elements.
171458
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LY Wnte a brief note on Larp)
i B Te I

2+

caonlractlion.

(R
What happens when (Give

Chemie;
cquanons) — "

i) QOzone pas jg Passed o

potassium lerrocyanic,.

solution =

1]  Am |
] maonium hydroxjde solution

15 7 d
added 1o mMercurie chloride
solutinn 2
I} Sulphur dioxide EdS 15 passed
| [ . Lo Ry {.‘
into acidic sulution [
: Q

Polassium dichrarmate »

1 + 1+
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